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BT HEHE) |58 E
FiF e BT 166 209 217 426
HHE—TH 187 192 196 388
HHE_—TH 206 248 246 494
HHE=TH 258 306 350 656
BT T B 720 879 961 1840
FHHETRTH 1027 1390 1497 2887
FFHEIRTH 533 684 754 1438
FHHEtTH 418 458 545 1003
|FFRET/\T B 176 152 192 344
EFE—TH 239 258 286 544
IEFE=TH 885 1062 1130 2192
/0O 221 316 314 630
= ET 0 0 0 0
M&B—TH 444 580 605 1185
HISE=TH 1356 1813 1957 3770
HM&EE=TH 324 431 467 898
MSETMETH 430 606 629 1235
/N T 606 951 952 1903
/NEBET—TH 110 131 149 280
/INEETZTH 623 912 920 1832
INEET=TH 145 220 217 437
FANET 510 521 692 1213
FFET 0 0 0 0
FMET—TH 197 260 261 521
FMETZTH 259 407 441 848
S EHT 1 1 1 2
StER—TH 322 505 470 975
SEE_TH 440 571 634 1205
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= ERET 274 352 410 762
R BT 238 342 345 687
— EhzET 162 222 217 439
B A< BT 745 1052 1117 2169
LI BT 493 640 664 1304
YRERT—TH 247 293 311 604
ER—T B 543 706 774 1480
MAER=TH 156 211 233 444
EEHT 218 342 282 624
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EER-TH 288 370 415 785
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ZEEETH 55 79 76 155
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BABRT—TH 628 767 773 1540
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thEBT—TH 246 219 203 422
sth B T BT 2303 3300 3287 6587
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[IREHT 0 0 0 0
UREEI—TH 243 357 353 710
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REEI—TH 497 665 737 1402
MRAERT=TH 910 1168 1275 2443
IKRERTETH 258 350 349 699
REETETH 1226 1539 1594 3133
ETE 2379 3525 3540 7065
WAEH—TH 341 551 572 1123
WAEHR=-TH 447 689 703 1392
WAEHZTH 1341 2020 2144 4164
WSAEHMETH 758 1085 1213 2298
WAZEHFRTH 423 618 662 1280
[E 5> BT 368 548 582 1130
T HE] 205 299 310 609
HRTE BT 272 397 421 818
= HAHT 470 694 740 1434
F0EHET 451 632 669 1301
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A EET 373 545 551 1096
B HT 699 1032 1021 2053
ERHE] 127 199 211 410
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DEHE_TH 588 870 860 1730
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EEX&E—TH 379 514 554 1068
FEE-TH 575 813 854 1667
EEE=TH 548 665 771 1436
FEHE—TH 753 1110 1186 2296
SEHE=TH 1070 1510 1611 3121
SEE=TH 1185 1517 1649 3166
IEONH—TH 55 92 98 190
FoAH=-TH 641 1059 1061 2120
IIOAH=TH 150 215 239 454
#HT=E—TH 228 394 385 779
HITEEZTH 128 203 195 398
PN E T 2 1 1 2
ANEE—TH 231 310 330 640
NHEBT=TH 271 378 394 772
HNHBE=TH 284 408 407 815
AEETETH 191 276 316 592
EERT 7 9 1 10
EEE—TH 657 907 920 1827
EER_—TH 638 818 824 1642
EER=TH 336 497 508 1005
EEEMRTH 322 351 393 744
EmRBEI—TH 265 321 304 625
ERE=TH 239 379 367 746
EWBBRI=TH 133 195 195 390
ERETWTH 157 189 197 386
EMBIATH 213 307 296 603
EHABIATH 212 302 296 598
2 HE] 221 187 232 419
FHE—TH 213 240 265 505
FHBI=TH 172 242 268 510
FHBI=ZTH 127 185 197 382
HyE—TH 211 301 305 606
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HPHEFUT B 0 0 0 0
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12 AT 262 441 455 896
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EHE—TH 240 286 319 605
EHEIZTH 158 179 206 385
AHET 811 957 1038 1995
= FAET 1333 1558 1619 3177
AT 1586 2069 2266 4335
DR 1005 1183 1143 2326
L HCHET 1030 1465 1443 2908
EF 522 775 764 1539
FTFE—TH 156 169 191 360
ETFEI—TH 295 333 362 695
FFHI=TH 308 388 391 779
/NEFHET 62 89 92 181
BsLE—TH 517 691 773 1464
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